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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-1 ( Subsidiary-1 ) 

Y“U] Yy [ S-1 : Micro-Economics (SEC-1) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

(Eı) (i) ªJÙÁ◊c˜VÁÃ[˝ a…y◊ªRÙO ◊[˝[˝ Tˆ EıÃ[˝”X* ªJÙÁ◊c˜VÁ a…‰yÃ[˝ V«◊ªRÙO 
[˝Ó◊Tˆy‘] ◊_F«X* 2 + 4 

 (ii) ªªJÙÁ◊c˜VÁ„Ã[˝FÁ @SÁ±¡Eı ªRÙÁ_^«N˛ c˜Ã^ ÂEıX ? EıFX 
ªJÙÁ◊c˜VÁ„Ã[˝FÁ >W[˝Ô]«F› c˜Ã^ ? 6 + 2 

 (iii) ªJÙÁ◊c˜VÁÃ[˝ Y◊Ã[˝[˝Tˆ¤X A[˝e ªJÙÁ◊c˜VÁÃ[˝ Y◊Ã[˝]ÁS 
Y◊Ã[˝[˝Tˆ¤„XÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊_F«X* ªJÙÁ◊c˜VÁÃ[˝ 
%„Yl˘Eı EıÁ„Eı [˝„_ ? 4 + 2 

(F) (i) ◊XÃ[˝„Yl˘„Ã[˝FÁ Tˆ„√º¯Ã[˝ %X«]ÁXm◊_ ◊[˝[˝ Tˆ EıÃ[˝”X* 
   6 

 (ii) [˝Á„LªRÙO ÂÃ[˝FÁÃ[˝ aep˚Á ◊VX* [˝Á„LªRÙO ÂÃ[˝FÁÃ[˝ ªRÙÁ_ 
A[˝e V«◊ªRÙO V–„[˝ÓÃ[˝ VÁ„]Ã[˝ ]„W˝Ó a+EÔı ◊XW˝ÔÁÃ[˝S 
EıÃ[˝”X* 2 + 4 

 (iii) ÂVFÁX Â^ VÁ] Y“\ˆÁ[˝ c˜_ %ÁÃ^ Y“\ˆÁ[˝ A[˝e 
Y◊Ã[˝[˝Tˆ¤ Y“\ˆÁ„[˝Ã[˝ a]◊rÙ* 8 

(G) (i) AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝Á„Ã[˝ EıFX VÁ]-Y UEı›EıÃ[˝S 
aïˆ[˝ C _Á\ˆLXEı ? 6 

 (ii) "AEıLX AEı‰ªJÙ◊ªRÙOÃ^Á]…_Eı Y“◊Tˆ„^Á◊GTˆÁÃ[˝ 
EıÁÃ[˝[˝ÁÃ[˝› ÿëˆîEıÁ„_ a[˝ÔVÁ %ÿëˆÁ\ˆÁ◊[˝Eı ]«XÁZıÁ 
%L¤X Eı„Ã[˝*' — A◊ªRÙO ◊Eı aTˆÓ ? 8 

 (iii) AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝Á„Ã[˝ ÂEıX AEı◊ªRÙO ZıÁ„]ÔÃ[˝ GQÕˆ 
%ÁÃ^ Y“Á◊‹ôˆEı %Á„Ã^Ã[˝ ÊªJÙ„Ã^ Â[˝◊` c˜Ã^ ? 6 

(H) (i) ◊Ã[˝EıÁ„QÔˆÁÃ[˝ FÁLXÁTˆ„√º¯Ã[˝ a]Á„_ÁªJÙXÁ]…_Eı [˝ÓÁFÓÁ 
◊VX* 10 

 (ii) ÂVFÁX Â^ a]ÿôˆ =YÁVÁ„XÃ[˝ %Á„Ã^Ã[˝ ]„W˝Ó 
FÁLXÁ UÁ„Eı* 6 

 (iii) %UÔÍX◊TˆEı-FÁLXÁ C Y“ÁÃ^-FÁLXÁÃ[˝ ]„W˝Ó 
YÁUÔEıÓ ÂVFÁX* 4 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) (i) ªJÙÁ◊c˜VÁÃ[˝ VÁ]GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ EıÁ„Eı [˝„_ ?  

 (ii) ªJÙÁ◊c˜VÁÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ Eı› Eı› ◊[˝b„Ã^Ã[˝ =YÃ[˝ 
◊X\ˆ¤Ã[˝ Eı„Ã[˝, %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 10 
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(F) ÂÃ[˝FÁ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó =dYÁV„XÃ[˝ ◊[˝◊\ˆ~ ÿôˆÃ[˝m◊_ [˝ÓÁFÓÁ 
EıÃ[˝”X* AEıLX =dYÁVEı ÂEıÁXÀ ÿôˆ„Ã[˝ =dYÁVX Eı„Ã[˝ ? 

  10 + 2 

(G) (i) =dYÁV„XÃ[˝ %ÁÃ^TˆX [˝ ◊à˘Ã[˝ Zı„_ %\ˆÓ‹ôˆÃ[˝›S C 
[˝Á◊c˜ÓEı [˝ÓÃ^ ae„l˘„YÃ[˝ a«◊[˝W˝Ám◊_ =Y^«N˛ 
=VÁc˜Ã[˝Sac˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (ii) GQÕˆ =dYÁVX C Y“Á◊‹ôˆEı =dYÁV„XÃ[˝ a+EÔı◊ªRÙO 
ÿöˆÁYX EıÃ[˝”X* 8 + 4 

(H) (i) ÿëˆîEıÁ_›X GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁ ÂU„Eı ◊Eı\ˆÁ„[˝ 
V›HÔEıÁ_›X GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁ YÁCÃ^Á ^ÁÃ^ TˆÁ 
ÂÃ[˝FÁ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* 

 (ii) GQÕˆ %ÁÃ^, Y“Á◊‹ôˆEı %ÁÃ^ A[˝e ªJÙÁ◊c˜VÁÃ[˝ VÁ] 
◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ ]„W˝Ó a+EÔı◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X*  

   8 + 4 

 (I¯) a«„VÃ[˝ c˜ÁÃ[˝ ◊XW˝ÔÁÃ[˝„S ÂEıc˜OXÀ„aÃ[˝ XGV-YªK˜≥V Tˆ√º¯◊ªRÙO 
[˝SÔXÁ EıÃ[˝”X* 

(ªJÙ) `“◊]Eı aIH ◊Eı ? Â^ÏU [˝Á aeH[˝à˘ VÃ[˝EıbÁEı◊b˘ 
EıÁ„Eı [˝„_ ? ]L«Ã[˝› C ◊X„Ã^ÁG ◊XW˝ÔÁÃ[˝„S aeH[˝à˘ 
VÃ[˝EıbÁEı◊bÃ[˝ \…ˆ◊]EıÁ ◊Eı ? 2 + 2 + 8 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) =Y„^ÁG EıÁ„Eı [˝„_ ? Â]ÁªRÙO =Y„^ÁG C Y“Á◊‹ôˆEı 
=Y„^Á„GÃ[˝ ]„W˝Ó YÁUÔEıÓ Eı› ? 2 + 4 

(F) ªJÙÁ◊c˜VÁ %„Yl˘Eı EıÁ„Eı [˝„_ ? ªJÙÁ◊c˜VÁÃ[˝ %ÁÃ^GTˆ 
◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ EıÁ„Eı [˝„_ ? Ac˜O W˝ÁÃ[˝SÁÃ[˝ aÁc˜Á„^Ó 
ÿëˆÁ\ˆÁ◊[˝Eı C ◊XE ırÙ V–„[˝ÓÃ[˝ aep˚Á ◊VX* 2 + 2 + 2 

(G) =dYÁVX Y“a„Ü ÿëˆîEıÁ_ C V›HÔEıÁ„_Ã[˝ ]„W˝Ó YÁUÔEıÓ 
◊_F«X* ^FX Â]ÁªRÙO =dYÁVX a„[˝ÔÁ¨JÙ c˜Ã^, TˆFX Y“Á◊‹ôˆEı 
=dYÁV„XÃ[˝ ]ÁX EıTˆ c˜„[˝ ? 4 + 2 

(H) ªÿëˆîEıÁ„_ GQÕˆ ◊ÿöˆÃ[˝ [˝ÓÃ^, GQÕˆ Y◊Ã[˝[˝Tˆ¤X›Ã^ [˝ÓÃ^ A[˝e 
GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁm◊_Ã[˝ %ÁE ı◊Tˆ ◊EıÃ[˝÷Y c˜Ã^ ? 

(I¯) AEı‰ªJÙ◊ªRÙOÃ^Á Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı 
◊Eı ? 

(ªJÙ) %◊_„GÁY◊_ [˝ÁLÁÃ[˝ EıÁ„Eı [˝„_ ? %◊_„GÁY◊_ 
[˝ÁLÁ„Ã[˝ ◊X◊V¤rÙ ªJÙÁ◊c˜VÁ ÂÃ[˝FÁ UÁ„Eı XÁ ÂEıX ?  2 + 4 

(ªK˜) a«V EıÁ„Eı [˝„_ ? Â]ÁªRÙO a«V C X›ªRÙO a«V EıÁ„Eı [˝„_ ? 
a«„VÃ[˝ c˜ÁÃ[˝ ◊XW˝ÔÁÃ[˝„SÃ[˝ @S„^ÁGÓ Tˆc˜◊[˝_ Tˆ„√º¯ @S„^ÁGÓ 
Tˆc˜◊[˝„_Ã[˝ ªJÙÁ◊c˜VÁ ÂEıÁXÀ ÂEıÁXÀ =da ÂU„Eı a ◊rÙ c˜Ã^ 
=‰{F EıÃ[˝”X* 2 + 2 + 2  

(L) %Á◊UÔEı ]L«Ã[˝› C Y“E ıTˆ ]L«Ã[˝›Ã[˝ ]„W˝Ó YÁUÔEıÓ ÂVFÁX* 
Y“E ıTˆ ]L«Ã[˝› ÂEıÁXÀ ÂEıÁXÀ ◊[˝b„Ã^Ã[˝ =YÃ[˝ ◊X\ˆ¤Ã[˝ Eı„Ã[˝ ? 

  2 + 4 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) (i) State the law of demand. Write two 

exceptions to the law of demand. 

   2 + 4 

 (ii) Why is the demand curve negatively 

sloped ? When does a demand curve 

slope upward ? 6 + 2 

 (iii) Distinguish between change in 

demand and change in quantity 

demanded. What is a demand 

function ? 4 + 2 

(b) (i) State the assumptions of Indifference 

curve theory. 6 

 (ii) Define a budget line. Derive the 

relationship between the slope of the 

budget line and prices of two goods. 

   2 + 4 

 (iii) Show that the price effect is the sum 

of income effect and substitution 

effect. 8 

(c) (i) When is price discrimination possible 

and profitable in a monopoly firm ? 6 

 (ii) "A monopolistic firm in the short run 

always earns supernormal profit.' Is it 

true ? 8 

 (iii) Why in a monopoly market average 

revenue is greater than marginal 

revenue of a firm ? 6  

(d) (i) Critically examine the Ricardian 

theory of rent with criticisms. 10 

 (ii) Examine the proposition that ‘rent 

element is present in the income of all 

factors’. 6 

 (iii) Distinguish between economic rent 

and quasi-rent. 4 

2. Answer any three questions  : 12 × 3 = 36 

(a) (i) What is price elasticity of demand ? 

 (ii) Discuss the factors on which elasticity 

of demand depends. 2 + 10 

(b) Explain different stages of production with 

the help of a diagram. In which stage does a 

producer operate ? 10 + 2  
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(c) (i) Discuss the advantages of internal 

and external economies due to 

increase in the scale of production 

with suitable examples. 

 (ii) Establish the relation between average 

product and marginal product. 8 + 4 

(d) (i) Explain with the help of a diagram, 

how long run average cost curve can 

be derived from short run average cost 

curves. 

 (ii) Explain the relationship between 

average revenue, marginal revenue 

and price elasticity of demand. 8 + 4 

(e) In the context of the determination of rate 

of interest describe the Liquidity preference 

theory of Keynes. 

(f) What is trade union ? What is collective 

bargaining ? What is the role of collective 

bargaining for the determination of wage 

and employment ? 2 + 2 + 8  

3. Answer any four questions  : 6 × 4 = 24 

(a) What is utility ? Indicate the difference 

between total utility and marginal utility. 

  2 + 4  

(b) What is a demand function ? What is 

income elasticity of demand ? With the help 

of this concept define normal good and 

inferior good. 2 + 2 + 2 
(c) Distinguish between 'short-run' and 'long- 

run' in the context of production. What is 

the value of marginal product when total 

product is maximum ? 4 + 2  

(d) What are the shapes of average fixed cost 

(AFC), average variable cost (AVC) and 

average cost (AC) curves in the short-run ? 

(e) What are the features of a monopolistically 

competitive market ? 
(f) What is an oligopoly market ? Why is there 

no distinct demand curve in a oligopoly 

market ? 2 + 4  

(g) What is interest ? What is gross interest 

and net interest ? In 'Loanable Funds 

theory of Interest Rate Determination' 

mention the sources of demand for 

loanable funds. 2 + 2 + 2  

(h) Distinguish between money wage and real 
wage. What are the factors on which real 

wage depends ? 2 + 4 

    


